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Regarding al-Fātiḥah, āyah 7: 
 
 

 

 

 

 

 

 

1) What is the iʿrāb of �������	�
� ?   Is it majrūr or manṣūb? 

 

2) What type of �
   is in ����

 �������	�
 ? 

 

 

 

 

 

 

 

 

 
Question 

������� ���������� ����	������
�� �
 ������	�
�  
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1) �������	�
�  is majrūr because it is maʿṭūf of  ����������� ����	������
� . 
 
 
 
 

2) �
  is of course nāfiyah. 

 

In this usage it is  �$��%�&�'��� (�$�)
�*,  as we say:  

 

��+�� ,-�.�/ 01��2 �
,-����% .  

 

��+�� 4
�.�/ �5�6�7�8 �
4
����% .  

 

It has the force of neither ... nor. 

 

It is 9:�+��� ������, i.e., it does not change the iʿrāb of the following word. 
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